
1)

Answer: ____________

2) Find the median of the following set of data:

10, 24, 40, 21, 32, 7, 32, 10

Answer: ____________

3) (9 x 89) x (7 x 85)

Answer: ____________

4) 12/10 - 10/12

Answer: ____________

5)
Find the next three numbers in 
the sequence
0,1,1,2,3,5,8__,__,__

Answer: ____________

6) Find area of square 
having each side (s)
equals 28 m

Answer: ____________

7) (10 x 26) + (6 x 69)

Answer: ____________

8) Round 22.78226 to the nearest whole 
number.

Answer: ____________

9) (-52) ÷ 4

Answer: ____________

10) 16/2 - 15/3

Answer: ____________

11) 122 x 19 ÷ 8

Answer: ____________

12) Solve 19d2 + 14d - 10 = 0
Round your solutions to 1 decimal 
place.

Answer: ____________

13) 'What is the probability of rolling a 
number less than 3.when rolling a 
dice

Answer: ____________

14) 15% of 36

Answer: ____________

15) 15% of 36

Answer: ____________
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16) Round 0.849982 to 2 decimal places.

Answer: ____________

17) Find perimeter of 
rectangle having 
sides a = 77 m 
and b = 49 m

Answer: ____________

18) Round 7.4444 to the nearest 10

Answer: ____________

19) 8 x 100

Answer: ____________

20) 182 + 4 x 4

Answer: ____________

Total: ___ / 20
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Answers:

1) 2) 26.5 3) 277076930199552 4) 11/30 5) 13,21,34, 6) 784m 7) 60466816

8) 23 9) -13 10) 30/1 11) 12) d = 0.4 or -1.2 13) 1/3 14) 5.4

15) 5.4 16) 0.85 17) 252m 18) 7.4 19) 800 20)
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